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2. 288 % oW 4 x B Lol Aaise] AFol 57 st & o, 4
2o A ¢ 2 FoH?

288 = 2° x 32
714 AL A% x 200




3. 3 x5x11% 9 ko] AT

o @uA OBA @A G

42l A% 2+ 1) x (1+1) x (3+1) =24 ()
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xa = o Mt 12 ) = 5 7P F2 &5 & o, g o
gt= 45 olH?
D1 @ 4 ® 9 @®)25 ® 36

12=4%x3=3+1)x(2+1)
B xaZl EFo|BE2
av3He 2 259 AlE5olER 52 =25




5. AAFab,col Hst] bxa=7Txb=c* & WFo=c 9 o=
7HEorA] 2 A2

@D 35 @ 70 ® 105 @ 140 @180

~&B \

5xa="T7xb=c? A
1)a=5x7?,b=5°x7T4 M, 5x(5x7*) =7x(5’>x7) =
(5x7)% = 352
1)a=22x5x7*,b=22x5>x7 4 m,5x(22x5x%x7?) =
7Tx(22x52x7) = (2x5x7)% = 702

i) a=32x5x72,b=3x52x7 LW, 5x(32x5x7?%) =
7x(32x52x7) = (3x5x7)% =1052

W)a=42x5xT7? ,b=42x52x7 4 M, 5x (42x5x7?) =
Tx(42x52x7) = (4x5x7)% = 1402
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360 ©] oF0] Zi9k 23 x 3¢ x 5° o] oF40] ALt g 1, a+ b ©
F2? (Hoa, b= AAF)

o2 @3 ® 4 @ 5 ® 6

360 = 23 x 32 x 5 o|B=R F4:9] /|57t Z7] YfiA=a = 2,
b=1%=g=1,b=2 0]t}
“a+b=3




7. 27 =a, 13" =169 & W=l A9 o, b o Hst a—b 9] gh2?

D 120 @ 122 @ 124 @126 ® 128

27 = 128, 132 = 169 °|E& ¢ = 128, b = 2 o|t}. wtatA]
a—-b =126 °|t}.




